



Transforms of elementary functions

Pacob!
$$L \{f(t)\}^2 = \int_0^\infty e^{-st} f(t) dt$$

$$L(t) = \int_0^\infty e^{-st} \cdot 1 dt$$

$$= \left[\frac{e^{-st}}{-s} \right]_0^\infty$$

$$= \frac{-1}{s} (0 - 1) = \frac{1}{s}$$

$$L(t) = \frac{1}{s}$$

$$L(t) = \frac{1!}{s^2}$$

$$L(t) = \int_0^{\infty} e^{-st} \cdot t dt$$

$$= \left[\frac{t e^{-st}}{-s} - \frac{e^{-st}}{s^2} \right]_0^{\infty}$$

$$L(t) = \frac{1!}{s^2}$$

$$L(t) = \frac{1!}{s^2}$$

Bernoullis. formula. $I = UV_1 - U'V_2 + U''V_3$ $U = t \qquad V = e^{-st}$ $U' = 1 \qquad V_1 = \frac{e^{-st}}{s^2}$ $U'' = 0 \qquad V_2 = \frac{e^{-st}}{s^2}$





(a) Lith) =
$$\frac{\ln 1}{\sin^{2}}$$
 if $s > 0 \cdot 2 \cdot 10 > -1 \cdot 10$

Lith) = $\int_{0}^{\infty} e^{st} t^{n} dt$

Put $x = st$ $\Rightarrow dx = sdt$ $\Rightarrow dx = dt$

$$L(t^{n}) = \int_{0}^{\infty} e^{-x} \left(\frac{x}{s}\right) \frac{dx}{s}$$

$$= \int_{0}^{\infty} e^{x} \left(\frac{x}{s}\right) \frac{dx}{s}$$

$$= \int_{0}^{$$





$$L(e^{i\alpha t}) = \frac{1}{s - i\alpha}$$

$$= \frac{1}{s - i\alpha} \cdot \frac{s + i\alpha}{s + i\alpha}$$

$$= \frac{s + i\alpha}{s^2 + \alpha^2}$$

$$L(cesat tisinat) = \frac{s}{s^2 + a^2} + i \frac{a}{s^2 + a^2}$$

Equating Real & Imaginary Parts,
$$L(cosat) = \frac{S}{S^2 + cc^2}$$

$$L(sin at) = \frac{a}{s^2 + a^2}.$$

To find
$$L(\sin hat)$$

 $L(\sin hat) = L(\frac{e^{at} - e^{-at}}{2}) = \frac{1}{2}L(e^{at}) - \frac{1}{2}L(e^{at})$

$$=\frac{1}{2}\left[\frac{1}{s-a}-\frac{1}{s+a}\right]$$

$$=\frac{1}{2}\left[\frac{5+\alpha-5+\alpha}{(s-\alpha)(s+\alpha)}\right]=\frac{1}{2}\left[\frac{29}{(s-\alpha)(s+\alpha)}\right]$$

$$L(\sinh at) = \frac{a}{g^2 - a^2} \quad \text{for } s^2 > a^2.$$

(1) To find Licoshat)

Licoshat) = L {\frac{1}{2}} [ear + e^{ar}] = \frac{1}{2} L(e^{ar}) + \frac{1}{2} L(e^{ar})

$$= \frac{1}{2} \left\{ \frac{1}{s-a} + \frac{1}{s+a} \right\} = \frac{1}{2} \cdot \frac{2s}{s^2 - a^2}$$

$$L(ushat) = \frac{s}{s^2 a^2}$$
 for $s^2 > a^2$.





Broblems:

(Find LIte)

$$\Gamma(F_8) = \frac{841}{81} = \frac{84}{76350}$$
 $\Gamma(F_\mu) = \frac{841}{0!}$

@ Find LIGH)

$$L[(\pm 1)^{2}] = L[(\pm^{2} \pm 2 \pm 1)]$$

$$= L((\pm^{2}) \pm 2L((\pm) \pm L((\pm)))$$

$$= \frac{2!}{S^{3}} \pm \frac{2!!}{S^{2}} \pm \frac{1}{S}$$

$$= \frac{2!}{S^{3}} \pm \frac{2}{S^{2}} \pm \frac{1}{S}$$

3 Find L(1/€)

$$L(\frac{1}{4}) = L(\frac{1}{5})^{2}$$

$$= \frac{\sqrt{(-\frac{1}{2}+1)}}{5^{-\frac{1}{2}+1}} = \frac{\sqrt{1/2}}{5^{\frac{1}{2}}} = \frac{\sqrt{\pi}}{\sqrt{5}}$$

(TCLE)

$$L(IF) = L(Y^{12}) = \frac{\overline{Y_2 + 1}}{8^{1/2+1}} = \frac{\overline{Y_2 \cdot \overline{Y_2}}}{8^{3/2}} = \frac{\overline{Y_2 \cdot \overline{X_2}}}{8^{3/2}}$$

1+1 = n/n & 1/0 = TT





$$\mathbb{Q} L(e^{5t})$$

$$L(e^{5t}) = \frac{1}{5-a}$$

$$L(e^{5t}) = \frac{1}{5-5}$$

(i) Find L(sinst)
$$L(sinat) = \frac{a}{s^2 + a^2}$$

$$L(sin5t) = \frac{5}{s^2 + a^2}$$

(1) Find L(cos 6t)

$$L(\cos at) = \frac{S}{S^2 + a^2}$$





@ Find L(5602 2t)

$$L(Sin^{2}2t) = \frac{1 - (082t)}{2}$$

$$= \frac{1}{2}L[1 - (082t)]$$

$$= \frac{1}{2}[L(1) - L(082t)]$$

$$= \frac{1}{2}[\frac{1}{5} - \frac{5}{5^{2}+4^{2}}] = \frac{1}{2}[\frac{1}{5} - \frac{5}{5^{3}+16}]$$

$$= \frac{1}{2}[\frac{5^{2}+16-5^{2}}{5(5^{2}+16)}]$$

$$= \frac{8}{5(5^{2}+16)}$$

(B). Find L(cos23+)

$$(08^{2}3t = \frac{1+(082t)}{2}$$

$$L[(08^{2}3t) = L[1+(082(3t))]$$

$$= \frac{1}{2}[L(t) + L((086t))]$$

$$= \frac{1}{3}[\frac{1}{6} + \frac{8}{8^{2}+36}]$$

$$\cos^{3}\theta = \frac{1}{4} \left(\cos^{3}3\theta + 3\cos\theta \right)$$

$$L\left[\cos^{3}2t\right] = \frac{1}{4}L\left[\cos^{3}3(2t) + 3\cos^{2}2t\right]$$

$$= \frac{1}{4}\left[L(\cos^{3}6t) + 3L(\cos^{2}2t)\right]$$

$$= \frac{1}{4}\left[\frac{1}{6}\cos^{2}43b + \frac{35}{6}\cos^{2}44\right]$$





Find
$$L(sin^3 at)$$

 $Sin^30 = \frac{38in9 - 38in930}{4}$
 $L(sin^3 at) = L\left[\frac{34in3t - sin 3(3t)}{4}\right] = \frac{1}{4}\left[3L(sin3t) - L(sin9t)\right]$
 $= \frac{1}{4}\left[3\left(\frac{3}{5^2+9}\right) - \frac{9}{5^2+81}\right]$
 $= \frac{1}{4}\left[\frac{9}{5^2+9} - \frac{9}{5^2+81}\right]$
 $= \frac{9}{4}\left[\frac{1}{5^2+9} - \frac{1}{5^2+81}\right]$

Bin (+B) + SITLA-B) = Zin ALOS

$$L (\sin 2t \cos 3t) = L \left[\frac{\sin(2t+3t)t}{2} + \sin(2t-3t) \right]$$

$$= L \left[\frac{\sin 5t}{2} + \sin(-t) \right]$$

$$= \frac{1}{2} \left[L(\sin 5t) - L(\sin t) \right]$$

$$= \frac{1}{2} \left[\frac{5}{5^2 + 25} - \frac{1}{5^2 + 1} \right]$$